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NEW QUESTION 1

A network administrator is implementing a routing configuration change and enables routing debugs to track routing behavior during the change. The logging
output on the terminal is interrupting the command typing process. Which two actions can the network administrator take to minimize the possibility of typing
commands incorrectly? (Choose two.)

A. Configure the logging synchronous global configuration command

B. Configure the logging delimiter feature

C. Configure the logging synchronous command under the vty

D. Press the TAB key to reprint the command in a new line

E. increase the number of lines on the screen using the terminal length command

Answer: CD
NEW QUESTION 2

A network is being migrated from IPV4 to IPV6 using a dual-stack approach. Network management is already 100% IPV6 enabled. In a dual-stack network with
two dual-stack NetFlow collections, how many flow exporters are needed per network device in the flexible NetFlow configuration?

o0 w»
o ADNBE

Answer: B

NEW QUESTION 3
Refer to the exhibit.

Extended IP access list EGRESS
10 permit ip 1000 0 0.0 0255 any
|

< Output Omitted=

1

intarmace GigablkEtharnsatl o

ip address 209 165 200 225 255 255 255.0
ip acocess-group EGRESS out

clupsles el

speed auto
media-type 4o

An engineer must block all traffic from a router to its directly connected subnet 209.165.200.0/24. The engineer applies access control list EGRESS in the
outbound direction on the GigabitEthernet0/0 interface of the router However, the router can still ping hosts on the 209.165.200.0/24 subnet. Which

A. Mastered
B. Not Mastered

Answer: A

Explanation:

of this behavior is true?

A. Access control lists that are applied outbound to a router interface do not affect traffic that is sourced from the router.

B. Only standard access control lists can block traffic from a source IP address.

C. After an access control list is applied to an interface, that interface must be shut and no shut for the access control list to take effect.
D. The access control list must contain an explicit deny to block traffic from the router.

Answer: A

NEW QUESTION 4
A client device fails to see the enterprise SSID, but other devices are connected to it. What is the cause of this issue?

A. The hidden SSID was not manually configured on the client.

B. The broadcast SSID was not manually configured on the client.

C. The client has incorrect credentials stored for the configured hidden SSID.

D. The client has incorrect credentials stored for the configured broadcast SSID.

Answer: A

NEW QUESTION 5

Which HHTP status code is the correct response for a request with an incorrect password applied to a REST API session?
A. HTTP Status Code 200

B. HTTP Status Code 302

C. HTTP Status Code 401

D. HTTP Status Code: 504

Answer: C

NEW QUESTION 6
What the role of a fusion in an SD-Access solution?
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A. provides connectivity to external networks

B. acts as a DNS server

C. performs route leaking between user-defined virtual networks and shared services
D. provides additional forwarding capacity to the fabric

Answer: C

NEW QUESTION 7
Which exhibit displays a valid JSON file?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 8
Which DNS lookup does an access point perform when attempting CAPWAP discovery?

A. CISCO-DNA-CONTROLLER local

B. CAPWAP-CONTROLLER local

C. CISCO-CONTROLLER local

D. CISCO-CAPWAP-CONTROLLER local

Answer: D

NEW QUESTION 9

What is a benefit of data modeling languages like YANG?

A. They enable programmers to change or write their own application within the device operating system.
B. They create more secure and efficient SNMP OIDs.

C. They make the CLI simpler and more efficient.

D. They provide a standardized data structure, which results in configuration scalability and consistency.
Answer: D

NEW QUESTION 10

Which statement about an RSPAN session configuration is true?

A. A fitter mutt be configured for RSPAN Regions

B. Only one session can be configured at a time

C. A special VLAN type must be used as the RSPAN destination.

D. Only incoming traffic can be monitored

Answer: C

NEW QUESTION 10
A local router shows an EBGP neighbor in the Active state. Which statement is true about the local router?
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A. The local router has active prefix in the forwarding table from the neighboring router
B. The local router has BGP passive mode configured for the neighboring router
C. The local router is attempting to open a TCP session with the neighboring router.

D. The local router is receiving prefixes from the neighboring router and adding them in RIB-IN

Answer: C

NEW QUESTION 12
Refer to the exhibit.

GO0

Linkl

G0/O

GOJ1

Link2

GO/l

EW2f#show Spanning-tras

-
o a

Link1 is a copper connection and Link2 is a fiber connection. The fiber port must be the primary port for all forwarding. The output of the show spanning-tree
command on SW2 shows that the fiber port is blocked by spanning tree. An engineer enters the spanning- tree port-priority 32 command on GO/1 on SW2, but the

port remains blocked. Which command should be entered on the ports that are connected to Link2 to resolve the issue?

A. Enter spanning-tree port-priority 32 on SW1.
B. Enter spanning-tree port-priority 224 on SW1.
C. Enter spanning-tree port-priority 4 on SW2.
D. Enter spanning-tree port-priority 64 on SW2.

Answer: A

NEW QUESTION 17

Refer to this output. What is the logging severity level?
Ri1#Feb 14 37:15:12:429: %LINEPROTO-5-UPDOWN Line protocol on interface GigabitEthernet0/1. Change state to up

A. Naotification
B. Alert

C. Critical

D. Emergency

Answer: A

NEW QUESTION 21

Which feature must be configured to allow packet capture over Layer 3 infrastructure'?

A. VSPAN
B. IPSPAN
C. RSPAN
D. ERSPAN

Answer: D

NEW QUESTION 22

What is the difference between the enable password and the enable secret password when service password encryption is enable on an 10S device?

A. The enable password is encrypted with a stronger encryption method.
B. There is no difference and both passwords are encrypted identically.

C. The enable password cannot be decrypted.
D. The enable secret password is protected via stronger cryptography mechanisms.

Answer: D

NEW QUESTION 23
Refer to the exhibit.
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Rlfdabuy 1p oapf helle
|R1#debug condition interface Fad/1
Conditic I Set

Which statement about the OPSF debug output is true?

A. The output displays all OSPF messages which router R1 has sent to received on interface Fa0/1.
B. The output displays all OSPF messages which router R1 has sent or received on all interfaces.
C. The output displays OSPF hello messages which router R1 has sent received on interface Fa0/1.
D. The output displays OSPF hello and LSACK messages which router R1 has sent or received.

Answer: C

NEW QUESTION 27
Refer to the exhibit.

J.f"'--r = x‘-‘x - . .
AS1 \"‘\ AS2 g
/ < "* S )
{ E F_lﬂﬁ Fa0/0 \ 192.168.10.0/24 | FBD#D%I :“|:: ;
Il".\ '_: _1 / .'. 2 E J‘I,l‘
\: 7 . 8 =/
HH"'-—_ ,_--""---r o e

Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers

through BGP?
A)

R1(config)y¥router bgp 1
R1(config router)@neighbor 192.168.10.2 remote-as 2
R1(config router)mnetwork 10.1.1.0 mask 255.255.255.0

R2Z(config Ffrouter bgp 2
R2Z(confiqg router ) Tnelghbor 192.168.10.1 remote-as 1
RZ2(config-router)mnetwork 10.2.2.0 mask 255.255.255.0

B)

R1(conhg)¥router bgp 1
R1{config-routcr )¥neighbor 10.2.2.2 remote-as 2
R1(config-router )#network 10.1.1.0 mask 266.266.266.0

R2(config)¥router bgp 2
R2(config router)¥neighbor 10.1.1.1 remote-as 1
R2(config router)metwork 10.2.2.0 mask 255.255.255.0

C)

R1(conhg)=router bgp 1
R1(conhg-router ) =Zneighbor 192.168.10.2 remote-as 2
R1(conhg-trouter ) =network 10.0.0.0 mask 2586.0.0.0

RZ(conhg)=router bgp 2
R2Z(conhg-routcr J#neighbor 192.168.10.1 remote-as 1
R2Z2(config-router J¥network 10.0.0.0 mask 266.0.0.0

D)

R1(config)router bgp 1

R1(config router)¥neighbor 10.2.2.2 remote-as 2
R1(config router)Tneighbor 10.2.2.2 update-source 100
R1(config-router rnetwork 10.1.1.0 mask 2585.255.255.0

RZ(conhg)=router bgp 2

RZ2(conhg-router J=neighbor 10.1.1.1 remote-as 1
RZ2(conhg-router J=neighbor 10.1.1.1 update-source o0
R2(conhg-rouler J=network 10.2.2.0 mask 2565.2565.266.0

A. Option A
B. Option B
C. Option C
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D. Option D

Answer: A

NEW QUESTION 29

Which method displays text directly into the active console with a synchronous EEM applet policy?

A. event manager applet boom event syslog pattern 'UP'action 1.0 gets 'logging directly to console'

B. event manager applet boom event syslog pattern 'UP'action 1.0 syslog priority direct msg 'log directly to console’
C. event manager applet boom event syslog pattern 'UP'action 1.0 puts 'logging directly to console'

D. event manager applet boom event syslog pattern 'UP'action 1.0 string 'logging directly to console'

Answer: B

NEW QUESTION 30

To increase total throughput and redundancy on the links between the wireless controller and switch, the customer enabled LAG on the wireless controller Which

EtherChannel mode must be configured on the switch to allow the WLC to connect?

A. Auto

B. Active
C.On

D. Passive

Answer: C

NEW QUESTION 32
Refer to the exhibit.

SwitchCédahow vitp atatus
VIP Version
Configuration Revi

Maximm VIANs supported locally : 255
bunkber of exiscing VIANa :
Operating HMode
Domain Wame

Fruning Mode

V2 Mode

Traps Generation
digest

Configuration last modified by 0.0.0.
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[...output omitted...]
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SwitchCéshow r™an interface port-channel 1
interface Port-channel 1

description Uplink to Core

awitchport mode trunk

SwitchC connects HR and Sales to the Core switch However, business needs require that no traffic from the Finance VLAN traverse this switch Which command

meets this requirement?
A)

The Leader of IT Certification

visit - https://www.certleader.com



Cer[l.eadel” 100% Valid and Newest Version 350-401 Questions & Answers shared by Certleader
e https://www.certleader.com/350-401-dumps.html (100 Q&AS)

Leader of IT Certifications

SwilchC(conhg =vtp pruning

B)

SwilchC(conhg )#vtp pruning vian 110

C)

SwitchC(config #interface port-channel 1

sSwilchClconhg-if #switchport trunk allowed vian add 210,310

D)

SwitchC(config)#interface port-channel 1
SwitchC(config-if #switchport trunk allowed vian remove 110

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 34
Refer to the exhibit.

Layer 2 ] Layer 3 | AAA Servers
Fast Transition
Fast Transition
Protected Management Frame

PIF Disabled ¥
WPA+WPA2Z Parameters

WPA Policy

wWPAZ Polhicy-AES i

Authentication Key Management

802.1X Enable
CCKM Enable
PSK ¥ Enable
FT 802.1X Enable
FT PSK Enable
PSK Format ASCIT ¥

FEESSEEFESEEEEEES

General | Security | QoS I Policy-Mapping

Advanced

Based on the configuration in this WLAN security setting, Which method can a client use to authenticate to the network?

A. text string

B. username and password
C. certificate

D. RADIUS token

Answer: A

NEW QUESTION 36

What are two benefits of virtualizing the server with the use of VMs in data center environment? (Choose two.)

A. Increased security

B. reduced rack space, power, and cooling requirements
C. reduced IP and MAC address requirements

D. speedy deployment

E. smaller Layer 2 domain

Answer: BD
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NEW QUESTION 37
Which feature does Cisco TrustSec use to provide scalable, secure communication throughout a network?

A. security group tag ACL assigned to each port on a switch

B. security group tag number assigned to each port on a network
C. security group tag number assigned to each user on a switch
D. security group tag ACL assigned to each router on a network

Answer: B

NEW QUESTION 40
A client with IP address 209 16b 201 2b must access a web server on port 80 at 209 16b.200.22b. To allow this traffic. an engineer must add a statement to an
access control list that is applied in the inbound direction on the port connecting to the web server Which statement allows this traffic?

A. permit tcp host 209 165 200 225 eq 80 host 209.165.201.25
B. permit tcp host 209 165.201 25 host 209.165.200.225 eq 80
C. permit tcp host 209.165.200 225 It 80 host 209.165.201.25

D. permit tcp host 209.165.200.225 host 209.165.201.25 eq 80

Answer: B

NEW QUESTION 41
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